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The Gray Incidence Decision to Performance Evaluation

of the Weaving Machine

WANG Hong-bo  GAO Wei-dong

School of Textile and Wearing  Wuxi University of Light Industry Wuxi 214036 China

Abstract In this article the decision theory of gray incidence was introduced. One example of using

this theory to judge the performance of shuttleless weaving machine has also been given. The result in-

dicated that the air-jet loom will be the best choice for making gray cloth. This method is of great use

for choicing the equipment and optimizing the technics.
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Tab.1 The objective value of different types
m min % 10°W a m> cm a dB
1 000 92 880 374 1760 18 5 37 85
1 200 90 336 924 1092 22 6 35 91
800 92 612 816 2 124 24 10 75 91
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